
exercices 15,16,17,18p99,59,60,61,62,63,64 ,66p101,70,71,72,73p102 

 

 

 

 

 

 



a.√28 = √4 × 7 = √4 × √7 = 2 × √7 = 2√7 

b. √50 = √25 × 2 = √25 × √2 = 5 × √2 = 5√2 

c.4√27 = 4√9 × 3 = 4√9 × √3 = 4 × 3 × √3 = 12√3 

d.−√32 = −√16 × 2 = −√16 × √2 = −4 × √2 = −4√2 

 

 

 

Exercice 60p101 

a) 3√27 = 3√9 × 3 = 3√9 × √3 = 3 × 3 × √3 = 9√3 

b) −√8 = −√4 × 2 = −√4 × √2 = −2 × √2 = −2√2 

c) 5√12 = 5√4 × 3 = 5√4 × √3 = 5 × 2 × √3 = 10√3 

d) −3√98 = −3√49 × 2 = −3√49 × √2 = −3 × 7 × √2 = −21√2 

Exercice 61p101 

𝑎) √15 × √20 = √15 × 20 = √300 = √100 × 3 = √100 × √3 = 10√3 

b) √24 × √2 = √24 × 2 = √48 = √16 × 3 = √16 × √3 = 4√3 

b) √8 × √56 = √8 × 56 = √448 = √64 × 7 = √64 × √7 = 8√7 



Exercice 62p101 

𝑎) √
5

16
=

√5

√16
=

√5

4
=

1

4
√5 

b) √
24

2
= √12 = √4 × 3 = √4 × √3 = 2 × √3 = 2√3 

𝑐)
√2

√9
=

√2

3
=

1

3
√2 

𝑑)
√15

√20
= √

15

20
= √

3

4
=

√3

√4
=

√3

2
=

1

2
√3 

 

Exercice 63p101 

A=3√3 − 2√12 + √300 

  = 3√3 − 2√4 × 3 + √100 × 3 

  = 3√3 − 2 × √4 × √3 + √100 × √3 

   = 3√3 − 4√3 + 10√3 

   = 9√3 

 

B=3√5 − √20 − 3√45 

  = 3√5 − √4 × 5 − 3√9 × 5 

  = 3√5 − √4 × √5 − 3 × √9 × √5 

  = 3√5 − 2√5 − 9√5 

   = −8√5 

 

 

L’aire du rectangle est √3 × √48 = √3 × 48 = √144 = 12 
Le périmètre est : 

 √3 + √48 + √3 + √48      = 2√3 + 2√48  

                                                  = 2√3 + 2√16 × 3  

                                                 = 2√3 + 2 × √16 × √3  

                                                 = 2√3 + 2 × 4 × √3  

                                                 = 2√3 + 8√3  

                                                 = 10√3  
 

 

 



 
 

 

 

a) (3√5)
2

= 32 × (√5)
2

= 9 × 5 = 45    b) (2√3)
2

= 22 × (√3)
2

= 4 × 3 = 12     
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2
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2

= 16 × 2 = 32      d) (5√7)
2

= 52 × (√7)
2

= 25 × 7 = 175     
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Exercice 72p102 

 

A= √(−1)2=    |−1| = 1   car −1 ≤ 0   

B= √(3 + √2)2=    |3 + √2| = 3 + √2   car 3 + √2 ≥ 0   

Exercice 73p102 

 

A= √(𝜋 − 2)2=    |𝜋 − 2| = 𝜋 − 2   car 𝜋 − 2   ≥ 0  
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